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1. The first term and the common ratio

. of a geometric progression are 1 and 2
respectively. If the sum to first n terms

of the series is 31 then the value of nis
(1) 3
(2) 4
(3) 3
(4) 6

2. A person’s net income after paying

income lax at the rate of 5 paise i a
rupee is Rs. 3,800. Then his gross
INCome 1$
(1) 1,600
(2) 2,000
(3) 3,000
(43 4,000

. If the face value of each share is
Rs. 100 and brokerage is i%. Then

the proceeds got by selling shares

worth Rs. 6,000/ at Rs. 96% is

(1) Rs. 5,600
(2) Rs. 5,760
(3) Rs. 5,000
(4) Rs. 4,000

[

. A washing machine is sold in four

instalments. Fach successive instalment
is three times the preceding instalment.
If the first instalment 13 Rs. 300/- then
the cost of the washing machine is

(1) Rs. 12,000/

(2) Rs. 10,000/-
(3) Rs. 5,400/

(4) Rs. 9,300/

. A man, running at the speed of 7.5

Km/hour, crosses a bridge in 10.8

minutes. The length of the bridge is
(1) 2.5 Km

{2) 1.25 Km

(3) 1.35 Km

{4) 10 Km

. A merchant bought 1,000 mangoes for

Rs. 2,400/- and spent Rs. 100/- for
transportation. 50 of therm were unfit
for sale. He sold the remaining at Rs. 3/-

each. The gain or loss percent is
{1) 14% profit

(2) 14% loss

{3y 7% loss

{4) 7% profit
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7. Using a litre measure. a shopkeeper

AP

supplied half of the measure to the

customer but 1t contained 520

miltlilitre. The percentage of error

committed in measuring is
(1) 8%
(2) 4%
(3) 2%

4) 1%

. A car travelling at a constant speed

covers a distance of 160 Km in 3 hours

20 minutes. The distance covered by
oA .
the car in 2—2- hours 18

(1) 80 Km

(2) 100 Km
(3) 120 Km
(4) 320 Km

. 14 men earn Rs. 2,800 as wages

working for 8 hours a day. The
earnings of 18 men working for 10
hours a day, if they are all paid at the
same hourly rate, 18

(1) Rs. 3,500/

(2) Rs. 4,000/

(3) Rs. 4,200/-

(4) Rs. 4,500/-

n

10.

il.

S A)

A finance company pays Rs. 630 on a
recurring deposit of Rs. 50 per month
for a period of 12 months. 1f a person
deposits Rs. 1,500/~ per month for the
same pericd, the interest he obtained is
(1) Rs. 1,500

(2) Rs. 1,200

(3) Rs. 1,000

(4) Rs. 900

The compound interest on a sum of
Rs. 5,000 for 2 years at the rate of 10%
p.a. 18

(1) 1,000

(2) 1,050

(3) 1,500

(4) 6,050

> 1n an examipation, 75% of candidates

passed in English and 65% in
Mathematics, while 13% failed both
in English as well as Mathematics. If
4935 candidates passed in both the
subjects, the total number of candidates

who took the examination is

{13
(2)
3)

(4)

900
800
375
500
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(1) 42
(2y 44
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17. x7 -~ 5x2 - 16x + 80 =0 AT ©TT
SUTS TapoNY Sn¥ 0nnt =
Tomens
(1) 2, -2.5
2y 4,-4.5
(3) 3.-3,2
4y 1,-1,2

18, a, b, ¢ n¥s .&J‘O’c LATCT .ﬁ,\.,mﬁ A TeNtnt

19.

20.

21

- AY

"vu MUJE ~NOSD ..\JU l + ac
() b (2) b2
(3) 2b? @) 1+b
] 1
n=ab 2oezd ——— =
log; log}
1 ]
1) —+—
L a b
(2ya+b
(3) 0
(4 1
000 medadn %W::iﬁ 64 :;aé_pa’oé
é-d:m'id @ﬁ&j@dﬁ f.1e dx’ & o mdedy
Toahy TRTLT Rea)
(1) 16 (2) 32 =
(3) 64n (4) 128 n
12 cot?x — 31 cosecx + 32 = ) =3z
S X =
(1) 4/5 (2) 3/5
(3) 1/4 (4) 3/8




13. A rectangle with sides % e & | 17- Given x* — 5x% — 16x + 80 = 0 and

_ . ‘ i sum of two of its roots is zero then the
32 cm is converted into a circle. If

o roots are
7= —7;}— then radius of the circle is 1)2.-2.5
\ o 64 | (2) 4. - 4.5
(1) 64 cm. (2) — cm. | .- 4,
| (3)3,-3,2
(3) 8 cm. (4) 16 cm. G112

14. If five times the sum of a number and | 18. If a, b, ¢ are three consecutive natural

: . .25 : numbers then 1 +ac =
its reciprocal 18 ER then the number 13

{(I)b (2) b?
(3) 2/3 (4) 5 | )
19. 1f n = ab then | . no
_ , og, log,
15. If 9 is subtracted from 12 times a
11
number is equal to 4 times the square (D RS (2) a+b
of the number, the number is (3) 0 4) 1
(1) 3/2 (2) 972 _ , |
20. A wheel is turning at the rate of 64
(3 2/3 (4) 2/9 revolutions per minute. Then the angle

: . . through which the wheel turns in
16. The age of a father is twice the age of ' 1 '

: ) 15 secs. 18
his son. Twenty years ago his age was
6 times his son’s age. The age of the (1) 16m (2) 32m
father is (3) 64n (4) 128z
(1) 42 21 1f 12cot?x — 31 cosecx + 32 = ( then
(2) 44 5INX =
(3) 50 (1) 4/5 (2) 3/5
(4y 23 (3) 1/4 {4y 3/8

AP (7-A)
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24.

25.

AP

From the top of a tower 50 metres
high. the angles of depression of two
vehicles which are dug south of the
observer, are 15 and 75 . The

distance between the two vehicles is
(1) 100 m (2) 2003 m

(3) 10043 m (4) 5043 m

. Three sides of a triangle are 3 ¢cm,

4 cm and 5 cm. Then sine of the angle

opposite to the smallest side is
(1y 3/5
(3) 4/5

2) 3/4
(4) /4
The angle between the minute and

hour hands of a clock, when the time

is 25 minutes past 5 O’clock, is

(1) 0° (2) 107

N

o
3y [122 ] (4) 25°
vo2)

If the base of a rectangular solid tank

‘ i
1s 1.2 metre XE metre and whose
height is 0.8 metre. If water flows into

it at the rate of 15 Iitres/minute, the time

taken to fill the tank is

(1} 15 minute (2) 24 minute

. 1. . :
(3) ?’; minute (4) 32 minute

(-

26.

3
—.1

28.

If an angle of a triangle is 30° and the
side opposite to this angle 1s 4 cm then
the radius of the circum circle of the

triangle 15
{18 (2) 4

i3) 16 @) 32

. If an apple is worth 5 rupees, a mango

3 rupees and 3 oranges together 1
rupee, how many apples, mangoes and
oranges totalling 100 can be bought

for 100 rupees

(1) 8, 11, 81 (2) 4, 20, 76

(3) 12,10, 78 (4) 10, 10, 80

If the length of the perpendicular from
the centre of a circle to the chord of
the circle of length 10 cm is 12 cm
then the radius of the circle is

(1) 22 em (2) 11 cm

(3) 13 cm (4) 120 cm

The common ratio in the geometric

4 7
progression 2 B
8 5, L, 18

r 2 4
(I (2) ©’
T . r
3y 3




30, 39A3 3

31.

wm,ss d& 2CTH tRBR 2 a@a_’or{d#oq
:‘JJU* ﬁdﬁéﬁ ot

_J,J..,_H

el
ATrCeadn emo DTOLOYTD Mgy 9
]
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(2) &

(3) 12

4) 16

EFAT SEICEE WD) (?) us T oo
Mfaesﬂdw’@ W, BRADT 3 iﬁcﬁﬁa"g_
2o &BOS 2.

OYLMA, RIFGY, PKHIB, (?), DNJKC
(1) ACNOP

(2) AOMPN
(3) APMAN
(4) ABZXC

20cm3 35 d:ﬁcﬁaﬁw smm méa"‘“mﬁ&évﬁa
= oaf""** w%&o@ B

(1) E
(2) D, E. F. G
3) D, G
(4) E, F

33.

36.

{10 - A)

L
R i ntoetat s il

. %sd@e,

reeRFT AL, £ 3,0y 3Eh
(1) B,D

(2) B

(3) B, C

4y B.C,D, G

TCDEFEN wahT ébtj;ftl
(1) D, G

2y B,D, G, E

(3) D

(4) D, E

3 STRWTERE SAGE mohEd:
(1) A
(2} B
(3) C

(4) D
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"30. Inthe following figure, taking 2 circles

31.

at a time, how many common tangents

can be drawn 7

© ©

(1) 4
(3) 12

(2) 8
(4) 16

Find the missing term as shown by (?)

in the following letter series

OYLMA, RIFGY, PKHIB, (7), DNJKC
(1) ACNOP
(2) AOMPN
(3) APMAN

(4) ABZXC

Use the following Data to Answer
. Questions (32) to (35) : |

A 1> Singers

Teachers /BKE\ Sportsman
C\NG F

32

AP

2. Singers who are sportsmen but not

teachers

(1} E

(2) DVE, F.G
3D, G

4) E, F

(!

33.

35.

36.

-A)

Teachers who are singers hut not

sportsimen
(1) B, D () B
3) B, C 4 B, C,D. G

1. Teachers who are sportsmen as well as

singers
(1y D, G (2) B,D, G, E
(3) D M D, E

Singers who are neither teachers nor

sportsmen
(1) A (2) B
(3) C (4) D

Read the following 4 statements. Three
of them are related 1n some way,

Identify the ‘odd man out’
1) My sister prefers to have a plate of
friedrice
2} My brother brought a bag of

Basmati rice

3) My mother prepared pepper rice

for breakfast

4y Children are generally given rice

and curds
(i 1 {2y 2
{(3) 3 (47 4




39.

AP

o

) G001 (2) 0011

(4) 1000

TomemnE.3,5,6
Y FRIOWT ©0dry HFoma
BT0F Z0A

-t

© 99 g

(I 1,2.4 (2)2,1,4

(3) 2,4,1 4)1,4,2

By YA 23’32'?#9’0 »uo& ot ?Js 2,00
&)d::?ﬁ 330’%6\?\5. g

‘, s, ﬁq

41,

LEeBRCRT. C.‘»‘Q”&d:ﬁ??‘ﬂd»b““:ﬁ
{H 8 (2) 25

(3) G (4y 445

LOTy Hoded WRELY "BRICK

; mwcjﬁod.m "WATER’ cown
3,227, ”0 QOLLTRANNS 3 oé-fé
LRI TSR
‘BEST acw
Ter m&@n;ea ‘?

(1) 4,7.21 22 (2) 5,8,
(3) 7,10, 18,19

. AT rwo WO dﬁé&m

&0 c,cj“’ri\i 0BT Waa‘mcd:Qfs@ &

e,gé m FoZD&BINO
ah
iy
dhY
\J 7

(1) B 2y A

(3) E (4 D




37.

38.

Given the digit series .

AOB1110C1T1I D1 where some

of the digits are replaced by the letters

A, B, C, D. The corresponding digits

for the letters given in the proper

sequence as one of the aliernatives

among the four are
(1) 0001 (20011
30101 4y1000

The different positions of a dice are
given. The numbers on the face

opposite to 3, 5, 6 are respectively

(1) 1.2, 4 (2) 2, 1,4

4y 1, 4,72

. The numbers in the following squares

have been filled according to some rule

18 (261 25
22 6 i 16 ;
19 (M 12

The number which fits into the square

with question mark (7) is
(1) 20 {2y 10

(3) 18 ) 8

{13 -

40

. Given a number series: 3 7 22 88 446,
One term of this series 1s wrong. The
correct term required 1s
(1) 8§ (2) 25
(3) 89 (4) 445

. In a certain code, ‘BRICK' 1s coded as
‘4, 20. 11, 5, 13" and "WATER" is
coded as ‘25,3, 22, 7, 20", Then the
code word for ‘BEST’ 15
(1) 4,7, 21. 22 (2) 5,8, 2
(3) 7, 10. 18,19 (4)4.8. 2

-
4

2
1

[
LA

N

doecs
Find

. One of the figures given below
not fit with the rest of the figures.
out the figure

A)
B)

P

@
o B
e
5 D

(1) B
3)E

(2) A
(4) D
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44,

AP
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8 ZRoHT o’ BOBRODFILRNAT
58305

45, 3R doriths Seam 113 Y B BIIRNTR

£

(1) 5a + 8b
(2) 8a + 5b
(3) 5(a+Db)
(4) 8 (a +b)
46 0083 49 ¢ 2ENS B BroR VR 808,
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43. 45. Find the missing number in the figure

A =1R=) =l

civen below

The figure fit into the space marked as ?

18
. (1) 5a + &b
(1) (2) E';}
@ ' (2) 8a +5b
(3) 5(a + b)

(3) @’ 4) @ (4) 8(a +b)

Choose the correct answer for the

statements and conclusions given below
44, Find the odd man out from 46 to 49

46. Statement : Smoking is injurious to

A) 6 ‘ B) health.

Healthy people dripk tea.

Conclusion : 1. Healthy people

C) Al D) @ smoke.

II. Smoking people do

not drink tea.
B) [ (1) Only T is implicit
(2) Ounly I is truplicit
() A (2) B (3) Both I & I are implicit
(3) D (4) E (4 Neither 1 nor I implicit
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47. Statement : Each college must have a

good library.

Conclusion : L It helps the students to

spend their leisure time.

0. It is a part of study.
(1) Only I is implicit
(2) Only Il is implicit
(3) Both I & Il are implicit

(4) Neither I nor II implicit

48. Statement : All fruits are coloured by

God. _
God created everything.

Conclusion : 1. God created colours.
1I. God is coloured by
the fruits.

(1) Only Iis implicit
(2) Only Il 1s implicit
(3) Both [ & I are implicit

(4) Neither [ nor I implicit

(17

- A)

49,

51.

Statement : Some girls arc buttertlies,
Suma is a girl.
Conclusion : 1. Suma may be a
butterfly.

I1. Suma is not a boy.
{1) Only 1 is implicit
{2) Onty H is implicit
{3) Both I & 1I are implicit

(4) Neither I nor I implicit

. A regular hexagon becomes a regular

pentagon. The regular pentagon
becomes a square. Then the square

becomes

(1) anisosceles triangle

(2) anequilateral triangle

(3) aright angled triangle -

(4) rectangle

If ‘4> means, multiplication "x, "x’
means subtraction ‘-’ and ‘-’ means
division "= then 3 +3) x(6 - 2) =
(1) 8

(2) 9

(3) 12

(4) 32
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'Using the data in the following problem,

answer the questions from (52) to {(55)

:Fhere are eight mobile phones A, B, C,. D,
E, F, G and H. Due to the technical
problem, some of the maobile phones can
only send the message but cannot receive.
The messages @hich can only be sent from
AtoCthentoB,CtoEthento F,At0 E
then to D and then to G. Messages can be
received either ways between B& F, A & G,
A&Band A& H.

52. If the phone C is switched off and a
person wants to send messages from

A to F, then he has to send it to phone
(G (2) E
3) BorE (4) D
53. In how many ways can a person pass
the message from phone Gto F ?
(1) two (2) three
(3) four (4) seven

. If phone F can now send the message
to phone E, then in how many ways
can a person send messages from
phone Fto A7

(1) one

{3) three

(2) two

(4} four

(19 -

55. If phone E is out of order on that day,
then which of the following phones
cannot receive any message ?

() G (2) B
3) D (4) F

. *The island is beautiful if the air is
fresh’. The statement which logically
negate the above statement is

(1) The air is fresh and the island is
not beautiful

(2) The air is not fresh and the island
1s not beautiful

(3) The air is not fresh and the island
_is not beautiful

(4) If the air is not fresh then the
island is beautiful

57. “If a person can eat then he is alive’.
The statement logically equivalent to

this staterment is

(1) If a person is alive then he can

not eat

(2) If a person can not eat then he is

not alive
(3) If a person is alive then he can eat

(4) If a person is not alive then he

can not eat
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The questions from (58) to (61) based on

the following data:

“Three different faces of a cube, are painted

in three different colours red, green and blue.

The cube is now cut into 216 smaller but

identical cubes.

58.

59.

60.

6l.

The least number of the smaller cubes
that will have exactly three faces painted
is

(1) O
3) 6

(2) 2
(4) 12

The number of smaller cubes that will

have exactly two faces painted are
(1) 12

(2) 15

(3) 16

4y 12 or 15

The least and largest number of small

cubes that have cxactly one face
painted

(1) 64 and 84
(2y 75 and 84
(3) 64 and 72
(4) 75 and 85

The least number of small cubes that
have exactly one face painted yellow
and no other faces painted 1s

(1) 12 (2) 18

(3) 24 (4) 36

(21 -

672.

63.

The price of a computer 1n Bangalore
is Rs.1,000/- less than that in
Mangalore for the LG brand. Service
is provided at ail locations directly by
the company. Ramu, resident of
Mangalore wants to buy a LG
computer, then which of the following
is the best course of action for him ?

(1) Any person should buy LG
computer in Bangalore and sell 1t
to Ramu 1n Mangalore

(2) Ramu should not buy any of the
brands of computer in Mangalore

(3) Ramu should buy his LG
computer in Bangatore if he can
transport it to Mangalore for less
than Rs. 1,000/-

(4) It is better for Ramu to buy the
LG computer {rom Delhi where
the price is Rs. 1,200/- less than

that in Mangalore

If p, q and r are 3 propositions then
the statement which logically negates

“If por qthenr’ is

(1) p or q and negation of r
(2) p and q or negation of r
(3) porgandr

(4) negation of p and negation of

gorr
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Questions (64) and (65) are based on the

information given below:

AB CD EF G H I J KandL are
twelve persons seated in a row. The pairs
D& F, [ & Cand G & H are seated together,

- while B 1s to the immediate right of J, who

“seated next to E, who seated at the extreme

end. K is not an extreme cnd. There are

exactly six seats between A and L.

64. Who is seated to the immediate right

63.

66.

67.

AP

of B?
(1) J (2) K
(3) A (4) A or C

If F is seated two places io the left of
A, while C is seated four places to the
right of L, then who are the two

persons seated at the middle of the row
(1) Cand 1 (2) D and F
(3) Hand G (4) A and C

The arithmetic mean of 95, 105, 04,
106, 93 and 107 15

(1) 107
{3) 101

(2) 102

(4) 100

The arithmetic mean of marks of 10
students was calculated as 85. Later the
marks of a student was increased by
10. The new mean score 18

(1) 84 2} 85

(3) 86 4 10

68

69.

70.

71.

73.

- A'}

. 'The mean marks ¢f 40 boys in a class
1s 60, The mean marks of 40 girls of
the class is 58. The average marks of
70 students of the class is

(1) 59 (2) 58
(3) 60 (4) 58.5

The median of 10.01 11.10 10.10
[1.10 11.01 11.11 and 10.11 is

(1) 10.01 (2) 11.01
(3) 11.10 4) 10.10

For a distribution mean = 30 and
mode = 36. [ts median is

(1) 33 (2) 32
(3) 48 (4) 18

The mode of the values 2, 3, 5, 2, 3.
8,6,2,7, 4,3, 6and 3 is
(1) 2 (2) 8
(35 3 (4) 5

2. The geometric mean of 2, 4 and 8 is

(1 2
(38

(2) 16
4) 4

A student pedals at 15 kmph to his
college. While coming back home he
pedals at 10 kmph. His average speed
3

(1) 12 kms (2) 12.5 kms

(3) 13 kms (4) 12.75 kms
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Use the following data to answer guestions 74,

-

74,

76.

7.

75 and 76:

Height in inches  No. of persons

64 — 655 32
66 — 67.3 47
68 — 69.5 45
70 - 71.5 30
The real width of the class interval
68-69.5 Is
{1y 1.3 (2) 1.75
{3y 2.25 (4) 2.0
5. The midpoint of the c¢lass interval
70-71.5 18
(1) 71 (2) 70.75
(3) 70.5 (4) 70

The “less than” cumulative frequency
corresponding to the class interval
66 - 67.5 18

(1) 45
(3) 92

(2y47 .
4) 79

Pis

(1) mode

(2) median

(3) arthmetic msan
(4) N/2

78.

79,

80.

gl

(25 - A)

Histogram is a ———dimensional

diagram
(o (231
(3) 2 (43

The radius of a circle in a pie diagram
representing Rs. 6,400 is 8 cms. The
radius of another circle in the same
chart representing Rs. 3,600 is

(1) 3 cms (2) 6 cms

(3) 36 cms (4) 9 cms

In a pie diagram the angle made by
the sector representing 50 tonnes is 90
degrees. The total weight represented
by the circle is

(1) 200

(2) 360

(3) 140

4} 90

The horizontal range of a projectile is
maximum when the angle of
projection with the horizontal is

(1) 30° (2) 45°

(3) 60° (4) 90°

. The height of a geostationary
satellite from the earth’s surface is
approximately

(1) 400 km

{23 800 km

(3) 6.400 km
(4) 36,000 km
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33.

84.

&5.

86.

87.

3.

A man in a lift will weigh more when

the lift

(1) Moves upwards with a uniform
velocity )

(2) Accelerates upwards

(3) Accelerates downwards.

(4) Descends frecly

A 1iquid'does not wet the surface of a
solid if the angle of contact is

(1) Zero

(2) Acute angle

{3) Right angle

{4) Obtuse angle

Boiling point of water in a pressure
cooker is

(1) 60°C (2) 80°C

(3) 100°C (4) 120°C
Washing soap is

(1) Fatty acid

(2) Triglyceride

(3) Salt of fatty acid
(4) Caustic soda

Natural rubber is a polymer of
(1) Peptide

(2) Cellulose

(3) Isoprene

(4) Isobutane

The additional metal present in
German silver, when compared with
brass is

(1) Silver

(2) Germanium

(3) Tin

(4) Nickel

CA)

89.

90.

91.

92.

The percentage of carbon in glucose is
(1) 40
(2) 60
(3) 72
(4) 12

Porphyrin ring structure with metal
atom is not found in

(1) Chlorophyli
(2) Vitamin B,
(3) Haemoglobin
(4) Vitamin C

In five kingdom classification, which
of the following kingdoms represent
prokaryotic organisms.

(1) Protista
(2) Monera
(3) Fungi
(4) Protozoa

Binomial system of nomenclature
means that an organism has

(1) Two names, one popular and
another scientific

(2) Two names, one in Latin and the
other in English

(3) One name comprising of genus
and the other of species

(4) One name each given by two
botanist
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93. The smallest measuring unit used in 97. The type of behaviour connecied with
representing the size of bacteria and the association of a new born baby
viruses 1s . . L

with the first object/person at [irst sight

(1) Micron (u) is called
(2) Millimicron (mg)

(3} An g§trom (A%)

(1) Trial and error method

(2) Imprinting
(4) Nanometer (nm} :
(3) Insight learning

94. Pollination is an important process in
the plants responsible for the
production of seeds and fruits. It is
defined as

(4) Taxis

98 The hardest substance in the human

: o , body 1s
(1) Germination of pollen grains on
the stigma of the flower (1) Keratin
(2) Visiting of flowers by the insects (2) Calcium of bone
(3} Growth of pollen tubes in the style (3) Enamel of teeth

(4) Transfer of pollen grains from the

anther to the stigma of the flower (4) Phosphorous of skeleton

95. Which one of the statement is correct 7 | 99 (Glaucoma is a disease of

(1) Viruses are non-living entities, (1) Skin
while bacteria are living
(2) Ear
(2) Viruses are living, while bacteria (3) Eye
are also living
(4) Teeth

(3) Viruses are living or non-living
structures while bacteria are living | 100. The theory of ‘origin of species by

. , natural selection” was formulated by
(4) Viruses and bacteria both are

living and non-living structures (1) Lamarck
96. The energy currency of the cell i3 (2) de Vries
i (1y ATP (2) GDP (3) Charles Darwin
(3) DTP 4 AMP (4) H.J. Muller

AP 29 - A)
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